H £ 0l & AF & S

Al A

0248 =0ila LESIH AT ~ KIAH
S EEIN=
mm: oM BN UEYD 2=
el Bes EAMEIA B (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S 827,982 769,439 58,543
S FOHAX HERZD = 731,476 660, 139 71,337
gas 3N Zat 731,476 660, 139 71,337
HHEAMHI A 222 350,458 280,092 70,366
101 21AH| 21,982 27,69%6 A5, 714
04 JIZtN2Z2XNSE+ 21,982 27,6% Ab,714
ONsg €22 28 21,982
—JlEs 78,8803 x1H 200! 15,776
—REF5ETd 78,8803 x1&+40 3,156
—28= 260,0002 x0 2,340
—Ex=E 78,8803+ 710
201 2= 327,876 251,7% 76,080
01 Al 22IH| 54,316 53,49 820
OIS U 42 P=ER
800,000 x4= 7| 3,200
OARIII 28 223 ¢
1,500,000& 122 18,000
OARES #Y 5,000
OXSZUIAIE & 0TV RXl2cl
173,000« 12& 2,076
Od=Jl A= 40,0002 *3CH* 122 1,440
O3I1838J| Sxtz
50,0002 +5CH* 122 3,000
OFAr2e| 428 7Y 5,000
OFATH & MEEIIIAL 24 SEHI
8,000 x252L x2H 12 4,800
OZLES & SEHHNSTE 74
600,000 * 12 7,200
OSEUILSAAE 257
1,200,000 <20+ 1= 2,400
OSEUALSALAE RAE+
1,100,000 «2CH* 1 2,200
2 s5=34l 273,560 198,300 75,260
OFA= 300,000 #52]*1H 1,500
og=sscld AgALE 2 d)|EHl FA2
clohe 6,220,000 *1& 6,220
OARY SIS &JIRes
9,800,000& «12& 117,600
ORddsE 2 SAR3 90,0008« 122 1,080
Odolr=ER= 280,000& * 128 3,360
ORd= &&ER2= 6,500
Odil| sXl2el 6,000,000& «12& 72,000
oNgEszl 2= 1,300
O4gate FAl2d
5,500,000& «2CH 1= 11,000
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S EEIN=
B QA BONK UEHD 75
ol PSS HENEIA He EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
OF LI FAl2c
13,000,000 *2CH*1H 26,000
onNgsxg =Al2el 22,000
O&IIXtE FAl2cl 5,000
301 22N = 600 600
11 AALEEIXIRE S 600 600
ORFEYS S 2AZ BN =X
600,000& 12 600
FRlEe) Metetd e 156,018 185,047 97
101 @124H| 109,618 103,847 5,771
04 JIZtNZ2 2N SE+ 109,618 103,847 5,71
OAlZ2teld 212 31,518
—Jl2=s 78,8803 x1H 260! 20,509
—ReFs+E 78,8803 18 x52& 4,102
—5L22+H 118,320 x 1 »24 2,840
—Ex=e 78,8802 x 1 x 12 947
e 260,002 *124 128 3,120
OB HEBAT 2R
12,000,000 * 1 12,000
OZU 24| =L 4,200,000%43] 16,800
OSttz & ¢tz aig| 212
1,700,000 *43] 6,800
O3.15¢ =8 M= 2=
500,000 <22 1,000
OLI==S H=HA 22
1,500,000& #52 7,500
OJIZHME, SEHA, Nexy S =2
e 5,000,000 62 30,000
Ogs+cld 35 38| U2
4,000,000%1& 4,000
201 el 11,400 16,200 24,800
01 At22t2lt] 6,000 6,000 0
OS&AE otad 225 FY 6,000
2 s5=34l 5,400 10,200 4,800
OgaANE & KX 2= 3,000
OgaAE dotr 2=
200,000 * 128 2,400
206 M=Hl 18,000 18,000
01 MHZH| 18,000 18,000
OZ2txd HEBZ AN M=+ 10,000
OAIDH =2t2 & &% M+ 5,000
OADHN == XA MY 3,000
301 EetE NS 7,000 7,000
02 ANRI2HHSHS(HAAS, NLHE) 7,000 7,000
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S EEIN=
mm: oM BN UEYD 2=
el Bes EAMEIA B (Gt H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
ORASHO 2o & AZ2IAR H4
A2 3,500,000& x22]* 1= 7,000
401 AIZHIX R0 10,000 10,000
01 AlZH| 10,000 10,000
OfIg== MA 10,000
THoHOII =QI==3 o Z 165,000 165,000 0
201 2= 15,000 15,000
01 At22t2l] 15,000 15,000
OMalf g & =7 EHl X2 15,000
401 Al HIZL 01| 150,000 150,000
01 Al&H| 148,380 148,380
Odtdits AR =2 At 15,000
O2F0IE AnR2FR=3AY 11,700
OIS AREFRI=SAAY 11,700
OdOE ARE2F0=S3AAMY 15,000
Ogdits A=At 15,000
OIS ARR2FR=SJAY 15,000
OSS0tE ARE2F0=3AA 15,000
OgHS ARE2FR=3AA 15,000
Ogas 43 XMelAr 15,000
Ogas MalAIE NS EHIA 19,980
03 AIZ2THYI 1,620 1,620 0
OTHoHolIe =2I=2 o Z 1,620
FOIXXIME 2el2g 10,000 10,000 0
201 fer=3| 10,000 10,000
01 AtR2te|HI 7,000 7,000
OF XX HE 22 5,000
OF2 XA A2 AHHIAE 2,000
2 35234l 3,000 3,000 0
O=2IXXIHE =24 1,000
OHMEtaed 2Al2el 2,000
ATt THOH Ol 50,000 50,000 0
401 AIEHIZ SR THYI 50,000 50,000
01 AlZ8| 49,460 49,460
OATE THoHOIZAFS 49,460
03 Al 20HHI 540 540 0
OATZ THoHOI 2 ALS 540
HH2ALH(LAE) 96,506 109,300 AN12,7%4
=238l 96,506 109,300 A12,7%4
2as JI=23d| 96,506 109,300 A12,7%4
201 et 3| 28,796 41,280 A12,484
01 At22t2l] 23,7%6 26,280 AN2,484
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H & 0l & AHS B Ml A

20243 =0l LB HAE ~ XIAHH

S HSE
3 FSH FOAX UWERI 2=
ool M2 #EAHIA 23 (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
s 465,916 470,845 A4,929
FSH FOX HERZ 7= 408,344 411,869 A3,525
ASH dIMHIA 23t 408,344 411,869 A3,525
HHEAMHI A 222 134,950 133,126 1,824
101 21AH| 15,776 15,392 384
04 JIZtN2Z2XNSE+ 15,776 15,392 384
OUAIRA & 53 22| aZ32R
= 78,8802 x2& %1002 16,776
201 er2 3| 118,674 17,134 1,540
01 At2t2lt] 40,824 32,780 8,044
oFJtdlE 2 Mz F5s=
600,000 43 2,400
OARIII 28 223 Fd 10,000
O=Xz2 28323 & 225 7
400,000 123 4,800
OAMRES 7Y 500,000& * 122 6,000
O&=xJ Hit AEE ¥ A2F uHbIE 1,500
O3JIZE)| gl
120,000 x2CH* 122 2,880
OBAIRA: Ue Ea A3
300,000 * 122 3,600
Ostolidtl 82 & 2 2,000
OBAIRA R013H| 8=
110,000& * 122 1,320
OZAMSRA (CTVRAl2e HIS
30,0002~ 12& 360
O=Xala 20134 88
100,000& « 12 1,200
O=Aala &M)|&d| ™2t
130,000& * 122 1,560
O=Xal2 AgAE FX2e|tHd
1,500,000& 1= 1,500
O=Xaa s 2A2ci|
142,000~ 12 1,704
02 S3=gl 77,850 84,354 A\6,504
OHAIRA MIIe= 900,000 x 12 10,800
OJlzs &le=s 2,000,000~ 128 24,000
OBAIRA: =223 80,000& * 122 960
ORdgs AMd= 200
OR#= &&R2= 2,000
OBAIR2 & Sl &5 1,200
OBAIRA: e Ha 2,000
O4g3al= FAl&L 5,000
Onr2gsAAE 01223
30,0003 x 122 360
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S HSE
H: FSYH FOAX UWERD 75
ool HSO AZAUIA s (o) @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OlISYsAIAE |X2el 5,000
O=Axteg FAl2cl 4,000
O=Xzl2 8JI2s 800,000& » 128 9,600
O=Xzla 22l & AL 12,000
O=laa Ste=s 50,000& * 122 600
O=Xal& 2] IIZAH
130,0002 %12 130
301 LEetE2 N = 500 600 A100
11 #AIAHIXIE S 500 600 A100
ORHEYs S 2F YA £
500,000& 12 500
FOIEO Meretd e 51,800 53,300 1,500
101 @124H| 750 2,250 21,500
VPIED EEP TR 750 2,250 21,500
OHS 012 97 B2 ZaAY o=y
150,000 6% 750
201 eer23| 1,000 1,000
02 S3=gHl 1,000 1,000
OFsd M5t FA 2 1,000
206 M=l 11,250 11,250
01 M= HI 11,250 11,250
OAIIHAI 22 =4 =4I 10,000
OZFSH Ot= 2+ 222 gAY Ml
1,250,000 14 1,250
301 LEtE N = 3,800 3,800
02 A2 HSGS(FHAAHS, NLWE) 3,800 3,800
O3 JIEdE YFAY
20,0003 »23| *95J = 3,800
401 A2 HIZL R 0HbI 35,000 35,000
01 Al&HI 35,000 35,000
ORIE=+= MA X2 5,000
ONtes A WA 30,000
Kool =el=2 offZ 110,000 110,000
201 er2 3| 10,000 10,000
01 AtR2telHl 10,000 10,000
OMeiHYy H =138 X 10,000
401 AlZHIZ SO 100,000 100,000
01 AlZ28| 98,920 98,920
OFESH AF2| =2 ZHIAE 19,784
O&FS 2 X0t= == FHIALY 19,784
OFE F=cl Jt=die dulAg 9,892
O3S gucl Ja= =2 ZHIAIE 14,838
OFES EuitS =2 ZHIAIE 14,838
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2N B0
MM H20 HOIKX WEYD 25
SH X

ool HSO AZAUIA s (el =)
S A - BRI - HRA - BES e 2

OHEE =4l =2 FHIAMY 9,892
O3S YA 0I= == FBIAY 9,892

03 AIESTHYI 1,080 1,080
Ot FRI=JAt =& 1,080

AtE THoH Ol gt 30,000 30,000

401 AIEHIZ SR 0HYI 30,000 30,000

01 Al&H| 29,676 29,676
OATE THoHOI 2 AFS 29,676

03 Al 2CHYI 324 324
Oa7Z THoHOIZALS 324

He=ssg 238 81,594 85,443

101 @12A4H| 20,194 25,243

04 JIZtN2 2N S 2+ 20,194 25,243
OoXe=ssE 2gad A4FY 20,194
—Jl2=s 78,8803 x20L 103 1Y 16,776
-5+ 78,8803 44 F=+1H 3,471
— ¢ x==g 78,8803 122 %1 947

201 eer23| 61,400 60,200

01 AtR2t2lHI 6,000 6,000
oxe=ssg 2gac 600,000 %10 6,000

02 s3=gHl 55,400 54,200
(OFSWIRS4=, 2,000,000 128 24,000
Ox=ER=s 1,500,000& «12& 18,000
Odlgt & QU RS 50,000 *12& 600
oX2=ssE A5 300,000& «22|* 12& 7,200
OJIEtR=S 50,000& * 128 600
OX=2==g ALl R 5,000

HY2HIHI(BSY) 57,572 58,976

Jl=23H 57,572 58,976

Y J=2&Hl 57,572 58,976

201 fet= 3| 15,636 17,040

01 AtR2te|H] 12,636 14,040
Oogy ge=xd 9,828
OHgd g2 (SEH!) 2,808

2 352484l 3,000 3,000
OBAMSA £ 22 3,000

202 04t 29,376 29,376

01 =LHOHI 2,49% 2,4%
oud ge=d 2,4%

02 A0 26,880 26,880
ogd 200,000« 1H* 122 2,400
OR e HO0lot 170,000 x12& «12& 24,480
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H & 0l & AHS B Ml A

20243 =0l LB HAE ~ XIAHH

=M 2o
Za: 2ol HOXX WEND 75
CHol: 2ot WEAHIA 23 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=gd 586,725 593,882 AT ,157
2% HHAX UWERZD 725 514,401 522,722 28,321
S0 HIMEIA 25 514,401 522,722 A8,321
HHEAMHI A 222 142,850 142,850 0
101 21AH| 800 800 0
04 JIZtN2Z2XNSE+ 800 800 0
Oot2LE=&A A el & & dF3EY
200,000 x1H#4 800
201 er2 3| 142,050 142,050 0
01 At2t2lt] 27,760 21,180 6,580
Ol dl2 2 HE 71S=
420,000 +4=2 | 1,680
OARIII 28 223 Fd
600,000& * 122 7,200
OBAIR A ol2EEA I AR
60,0002 x50 * 122 3,600
OAMRES Y 400,000&! 123 4,800
OSELALSAIAY S57E
1,000,000& %1 1,000
Odt22Ed4 A2l 2¢
500,000& 1 500
OFAX JIAF A SEH
8,000 x25&* 123 2,400
OXNSZHIAIE FAlZc
240,000 * 122 2,880
OsdJ| =2l 150,000& 122 1,800
osgudggll !RANEs
1,100,000 = 1CH 1,100
OFAL 28 B& 400,000 22 800
02 s3=gHl 114,290 120,870 6,580
OFEAMAS 1,200,000& 1 1,200
Of AIRx HIIR3 1,400,000& ~12& 16,800
oJzs &es 7,1003 %5005+ 128 42,600
Octzgdeda diks
500,000 x 122 6,000
ORdYs AEB 60,0002 «12& 720
Odlot= 2= 90,0002« 12& 1,080
o8z &82= 250,000 122 3,000
OFAL HIIHHEH =558
260,0002 %12 260
OsdJl ZIIBA 130,000& %12 130
OddExtgy A8sts |2
4,500,000& *1& 4,500
Oct=2dEda Faxteg sl
5,000,000& 1 5,000
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2A:

2901
mu: Sotel HOIUK HEAD 28
CHol: 2ot WEAHIA 23 (12l M2
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
01 A=l 99,100 99,100 0
OXIE0IE THOHOIZ AL 20,000
OZAI=S THoH oI 2 AL 19,100
OLtchDtS THOHOI AL 10,000
O&HOIS THOHOI AL 10,000
OHZ20tS THHOIZ AL 10,000
OJI20t2 THOHMIZ AL 10,000
Ost0tS THoH I ALY 10,000
OO0t 0tS THOHGI AL 10,000
03 A& CHYI 900 900 0
Ot =2l=H At 900
28 THoHOl g 30,000 30,000 0
401 AlIEHIZL 2 OHY| 30,000 30,000
01 AlZH| 29,676 29,676
OATE THoH I AL
30,000,000 *98.92% 29,676
03 AlZ = THHI 324 324 0
Oar2 THoHOI AL
30,000,000 *1.08% 324
Aes=gY 29 44,579 44,233 346
101 2124d| 14,199 13,853 346
04 JIZtNZ22XSE = 14,199 13,853 346
Oxessg pel Ry
78,8303 x 152« 1H 122 14,199
201 223 25,380 25,380 0
01 AFS2t2ltl 10,800 3,600 7,200
O==g sl 300,000 =122 3,600
o=s=g A= 300,000& x22|«12& 7,200
02 3224l 14,580 21,780 7,200
oMIIe3 1,000,000& « 122 12,000
O&fot=E AL EZ 150,000 « 122 1,800
OREgSANER 10,0002« 122 120
O8Il AEZ 45,0003 123 540
Od3ea 10,0002« 122 120
401 AIEHIZL 2 0HY| 5,000 5,000
01 A=l 5,000 5,000
a2 =8 |A.2=+ 5,000,000& 5,000
32| 29 119,676 117,523 2,153
101 e124d| 58,739 57,662 1,077
04 JIRHNZ2Z2XSE+ 58,739 57,662 1,077
O22d J2AX &MY 1R
78,8803 18 »72 5,680
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=M 2o
HE: o0 FOINK UEND 75
&l 2% #HAMHA HEt EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
O=ge 2AXH U KAz A=Y
7888021124722 5,680
OSYUM BA(MXZY) S T4 0=y
78,8303 x1Z 72 5,680
O2¢H Iaae 22y 41,699
=Jlgs 78,830& * 1 250 19,720
—SE=FFFY 78,8803 x 1 +51 4,023
—5222xY 118,320 »1H »65 7,691
— X 78,8803 x 1+ 12 947
—FEIOHI 600,000& * 1 *23] 1,200
—uSH| 10,0002 * 12 +365 3,650
—40f B8= 4,468,0002x1Z 4,468
201 Ler2 | 49,937 49,861 76
01 At 22|l 20,937 20,861 76
O3d ¥ &4 2el=3 20,937
—AREEZE 200,000& =12 2,400
—IPSEE(2ESE) S
300,000& *23] 600
—E3H&XI(300m168)
180,000 »20< A 3,600
—HIZHM (ZAAHE )
60,0002 145 840
— M DS E(502IH) 7902 *4,380& 3,461
—MHEE8SS(802IH) 1,000& %4, 380% 4,380
— e ESSS(502IH) 2,300& *720% 1,656
—CEHIIE Xeldls
100,000 *42| 400
—E8 & AZE(HE)
300,000& =123 3,600
02 3324l 29,000 29,000 0
O=SANERAALEH(ZH, 353 EHA S) 29,000
—JIHEH SXZe(=d2ISRRI2)
600,000& =123 7,200
—SSNERX 2L =S (A, 355
A HSAIES) 800,000& x12& 9,600
—33sHEd HaL 2
150,000& * 1294 2 +23| 3,600
—3S3AIE 4| HAS U (SHEA S Al
&8) 300,000& =123 3,600
—33AIE S22 J1HEH L2 (&=
OIFD, 20|, EHH , 22D1S)
5,000,000&x14 5,000
206 =8l 11,000 10,000 1,000
01 =l 11,000 10,000 1,000
OZZLZH MEPL(ZLIR L ZH)
4,000,0002 11 4,000
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OBADIR #ZFY| 01 5,760
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03 A= SHI 2,000 2,000
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301 EtE NS 2,880 2,880
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01 Al&H| 15,000 15,000
OfIg== MA 5,000
OoZU 22 x4 10,000
THoHOI =Ql=3 ofiZ 110,000 110,000
201 2= 10,000 10,000
01 At2t2lt] 10,000 10,000
OMall ol & == 3l &Xt= 10,000
401 AlZHIZ SO 100,000 100,000
01 Al&H| 98,920 98,920
Ostg == F8IAg 20,000
O=7= =2 FHIA 8,920
O=E& =2 HHIAE 10,000
OXE Eti=2 JHIAL 10,000
OSE0t= Bi+==2 FHIA 5,000
O=slts & AL 15,000
O=& ti+==2 FHIAE 20,000
O=Z0}= Bi+==2 EHIA 10,000
03 Al 20HHI 1,080 1,080 0
OMafiole =2l=2a 1,080
ATt THOH Il 30,000 30,000 0
401 AIEHIX SO 30,000 30,000

- 675 -




DA Map
Ha: g4 HONXK UESD 7=
CHel: M40t HIAHIA 23 (o) @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At 29,676 29,676 0
OARD THAHOI AL
30,000,000 *98.92% 29,676
03 Al 2 THHI 324 324 0
OARD THHOIZAIE
30,000,000 *1.08% 324
g0 dENsS2 2 28 5,960 5,960 0
101 e124d| 2,000 2,000
PELEENEEES 2,000 2,000
OXS2E HMEXY 012
2,000,000& 2,000
201 et23| 3,960 3,960
02 S3=gl 3,960 3,960
OMII23 300,000 1204 2 3,600
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g0 Jl=&3 57,532 58,936 1,404
201 et23| 15,636 17,040 1,404
01 AtR2telHl 12,636 14,040 1,404
oud ge=d 8,846,000 *1H 8,846
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3,790,000& x 1 3,790
2 352484l 3,000 3,000 0
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301 EtE NS 7,200 7,800 2600
02 A2 EH 2GS (FHAAHS, XNLWE) 6,000 6,000 0
OMAS JHELE SFAY 6,000
14 JIEt 23 1,200 1,800 A600
O3t 2telel 243(2z])
100,000 x1&* 12042 1,200
THoHOI =Ql==3 o2& 150,000 150,001 A
201 2= 20,000 20,000
01 At22t2lt] 20,000 20,000
OMal g & =7 EHl X2 10,000
PE+= MA U EX= 10,000
401 AIEHIX SO 130,000 130,001 A1
01 AlZH| 128,596 128,597 A1
OL&te] THoHMIZALE 19,784
Ol THoHuZA 9,892
OCUHEC| THoHOI ALY 19,784
O2+E THoHOI ALY 9,892
OKN= THoH Ol AL 14,838
OtHE2l THoHMIZALS 9,892
OalD12l THoH ol ALY 9,892
O=Hel MolollegAre 9,892
OL2==cl Mol ZAIS 9,892
O THaHM LA 14,838
03 AlESTHYI 1,404 1,404 0
OMatoe F2I=JHA 1,404
ATt THoH Oll'2t 50,000 50,000 0
401 Al HIZL S 0HYI 50,000 50,000
01 Al&HI 49,460 49,460
OAr2 THol ol 2 AL
50,000,000 =98.92% 49,460
03 A2 THYI 540 540 0
Oa7tZ THoHOI 2 AL
50,000, 0002 *1.08% 540
HY2AAH(2H) 109,506 111,820 A2,314
Jl=3H| 109,506 111,820 A2,314
20 Jl=&3 109,506 111,820 A2,314
201 Ler23| 53,876 55,760 A1,884
01 At2teltl 48,876 50,760 1,884
Oud g2 (=) 3,492
oY+ 60,0001 +12§x232! 1,380
OBy gexx 14,004
OSAEA FAl2cl 30,000
2 s5=4g4l 5,000 5,000 0
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Chel: J1=2 &l EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OBEMNSA & 22| 5,000
202 0idl 40,970 41,400 2430
01 =LHO4 b 3,890 4,320 A430
OHE A2=& 3,890
02 X0l 37,080 37,080 0
ogE 200,000 x 18 %1201 2 2,400
OFHZE Olst 170,000& 17124 & 34,680
203 AR F=&lH| 13,660 13,660
01 J| 22 HRFA| 8,500 8,500
oJ1a=24 8,500
02 HRIAHA R FAIH| 960 960 0
OF ATt 40,0003 *24H 960
M EAM2EHRFA| 4,200 4,200 0
ORA24g 350,000& =123 4,200
405 KHHE S| 1,000 1,000
01 XML =S EF SHI 1,000 1,000
OHFE g2Fx 1,000
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H £ 0l & AF & S

& LB HAS ~ AAIH

HOHAX UERZD 7=
HEAMHIA 23t

Al A

chel: JR)
L EE .G (3) - NRAY - HAS ol b e HlmS2
SIS 320,514 321,424 A910
AEH ZHAHAX WERA 2= 265,668 265,488 180
AEEH HHEAHIA 25t 265,668 265,488 180
HPAHIA 22|2H 86,7838 73,608 13,180
eikeals] 15,000 2,000 13,000
JIRHH2Z2XsE =+ 15,000 2,000 13,000
OBEAL=XE2 & AD|ey 22l IR
15,000,000& 1 15,000
201 Let23| 71,788 71,608 180
01 ArR22eltl 16,164 15,984 180
O&EIIdE & ME =2
450,000& *4=D| 1,800
OAIRI17]1 28 4288 Fe|
1,000,000 *4Z 2| 4,000
MREE 2| 5,000,000& 14 5,000
SOIZHIAIE |XI2eltl
118,000& x 123 1,416
SIIHEI| ArBE 126,000& 122 1,512
I L Hld A2
128,000& 123 1,536
AL HHED| ANEUIE
150, 0002 *6CH 900
32| 55,624 55,624 0
AL A=H| 240,000 %53 1,200
OARd I3 700,000& =123 8,400
oJzs Mies 2,500,000& =123 30,000
O=Xza &3 170,000& x 12& 2,040
Odol=E2=a 60,0003 * 12& 720
OREE €&ER23 500,000 42| 2,000
Oadgsts SX2el 4,000,000 14 4,000
OXZE=EXXE =Xl
4,000,00080 %1 4,000
OFAL ¥ =X3l2 29 22|
3,000,000 14 3,000
Osudes AIEZ 22,0002 128 264
oIl et A I 38,880 51,880 13,000
101 @124l 17,000 25,000 A8,000
M IIRHNZ2EXsSEs 17,000 25,000 8,000
O=2Esd 224 22y 12,000
Os0E T29 Z40] o2
5,000,000& 5,000
etz A| 4,000 7,500 A3,500
01 AR2teld| 4,000 7,500 A3,500
Obk2 ¥ &E23 2224 Fd|lgxt
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OUIE0I= THoH M2 AL 9,910
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03 Al 20HHI 900 900 0
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ATt THOH Ol 30,000 30,000
401 AlZHIY S CHYI 30,000 30,000
01 A28l 29,676 29,676
Oa7t2 THOHOIZALE 29,676
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HY2HAH| (ML) 54,846 55,936 21,090
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01 SLHoIH 2,810 2,4% 314
osd ge=d 2,810,000 2,810
02 A0 26,880 26,880 0
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Oa72 THol ol At 29,676
03 AIZSTHYI 324 324 0
Oa72 THololE A 324
SE=EN2EY 51,702 50,821 881
101 ©1AH| 18,932 18,471 461
M ORNZZ2NSE S 18,932 18,471 461
o=xa2Y 22l oy
78,8303 x1H 202« 12 18,932
201 er23| 32,770 32,350 420
01 At2teltl 8,000 6,200 1,800
OosXa23 450,000 *42] 1,800
Osima 4 U HIXSE 2
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O=X2 d=J| 8lig 50,000 * 122 600
Odoli2d, a2 =s
300,000 x224 %1 600
OREES =4 R= 25,0002+ 122 300
Oltg YBAIE AR
5,000& x21JH*42] 420
OFAL HII&H| EE
100,000 %12 100
Osdll 83 130,000 12 130
OFEAMALS 100,000 «12& 1,200
OAlE & EHl |Xl2el 3,000
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SA: pED
Hm: BEO HOIXA UEYD 2=
Chel: RIES BIAUIA 23 (el mel)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOtSLH2 el Baxd o=y 6,450
Odt&ZHID| =Y 1,000
Otz gt o1y 1,000
OHZ 2 sHEEZ SHiD] 22 5,000
Ogael PEEY B2l 2R
2,800,000& *32 8,400
206 M=l 50,000 48,750 1,250
01 MZH| 50,000 48,750 1,250
OOtSLhE Hel d2xd Mz 7Y 45,000
OLd sz F2Xd Mz 7 5,000
301 2= 3,600 3,600
02 AL 2EH LGS (HAAS, NLWE) 3,600 3,600
FSAHE 2 LAY 3,600
401 AIZHIZ SO 10,000 10,000
01 Al&HI 10,000 10,000
ORIE+= MA K& 10,000
Moo =2i=3 o1& 130,000 130,000
201 ger=2 3| 10,000 10,000
01 AtR2t2|HI 10,000 10,000
Ol & 5+ FolLxs 10,000
401 A2 HIZL R 0HbI 120,000 120,000
01 Al&HI 118,704 118,704
OJt80t= o2 ZHIAIE 19,784
OADIOtS o2 SHIAI 9,892
O=®0tE Bi+==2 FHIAY 14,838
O2E0IS THEHOIZ AL 14,838
OSE0tS =2 EHIA 9,892
OXEOIS Bi+=2 EHIAY 14,838
OEF0ts o2 AL 14,838
O 02 THaHMI AL 19,784
03 AlESTHYI 1,296 1,29 0
Ot F2I=JH At
120,000,000 *1.08% 1,296
=ty 2el2d 32,100 26,000 6,100
201 Ler23 | 21,000 21,000 0
01 At2teltl 5,000 5,000 0
O=2zt9 & 2l 5,000
02 S3=4gl 16,000 16,000 0
O=2z=t2 & =29 16,000
301 EetE NS 8,600 5,000 3,600
11 #AIAHIXIE S 5,000 5,000 0
O=3tel & Z3tlAt 5,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 IIEt2 8= 3,600 0 3,600
OZ& 2219 & 0RI22A 24
300,000 «1H*12& 3,600
405 KHoHFSH| 2,500 2,500
01 ML ESFSHI 2,500 2,500
O=2ste & H=&A 2,500
FUXRME 29 4,500 8,000 A3,500
201 2= 4,500 8,000 23,500
01 At22t2lt] 4,500 4,500 0
FAURRIHE 2+l 2,500
OFQUXX NHAIY 22 2,000
ATt THOH Ol 50,000 50,000
401 AlEHIY S CHYI 50,000 50,000
01 AlZH| 49,460 49,460
OATt2 THoH I AL 49,460
03 A2 = THHI 540 540 0
OATE2 THol ol 2 AL 540
HY2HAH|(2ED) 76,275 81,900 ADb,625
=3t 76,275 81,900 N\5,625
2EH Jl=3 76,275 81,900 N\5,625
201 eer23y| 23,936 25,880 A1,944
01 AtR2t2|HI 18,936 20,880 1,944
Ooud gf=xd 12,247
OHd geF2(s3EHl)
17,496, 0002 *30% 5,249
oga+g 60,0002 x4 1,440
2 s5=34l 5,000 5,000 0
OBAM=A & 22| 5,000
202 O4H| 40,970 41,400 A430
01 2L A 3,890 4,320 A430
Oogy ge=x=d 3,890
02 XN 37,080 37,080 0
osd 200,000& x1E~12& 2,400
OR8# 0Olot 170,000 x17E*12E 34,680
203 HR=AH] 10,369 13,620 A3,251
01 D[22 LR FA| 5,249 8,500 A3,251
oJ|a=2g 5,249
02 32 JRHH 2= 920 920 0
OF&Itet 40,0003 233 920
M EASHLRFAH 4,200 4,200 0
ORAM2g 350,000 * 122 4,200
405 AHaHE = 1,000 1,000 0
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O=2IXX NMAAIHZE 12
148,000 6% 740
201 er2 3| 31,800 31,800 0
01 AtR2te|HI 7,800 3,600 4,200
Oo=lga 28258 7Y
300,000& * 122 3,600
O=Xaa 527 FA2el|
130,000& «12& 1,560
O=XsZ MIQMEY 248
10,0002 1284 1,320
OSXZ ALEY 228
110,000& » 122 1,320
2 S52g4l 24,000 28,200 24,200
O=Xaa 2g & 2el
2,000,000& ~12& 24,000
206 MH=Hl 20,260 13,260 7,000
01 MZH| 20,260 13,260 7,000
Od2xd Masl 19,000
OF2XA XMHAE =& THE8|
1,260,000& 1,260
301 2eEN= 4,320 4,320
02 MBI 2HHSFHS(HAANS, KLHE) 4,320 4,320
FSA JHEYE LA 4,320
401 AlZHIZ S0 25,000 25,000
01 Al&H| 25,000 25,000
ORIE+= MA 5,000
OZ&E 2L FHA
20,000,000& *1 20,000
THoHOI =Ql=3& ofiZ 110,000 110,000 0
201 2= 10,000 10,000
01 AtR2t2lt] 10,000 10,000
OMNaiiey & =7 &l X2 10,000
401 AIZHIZ SO 100,000 100,000
01 Al&H| 98,920 98,920
OSR S0t Tl LA 18,920
OZ IS THaH Ol AL 20,000
OZKOI= THoH M2 AL 20,000
OStA0S THAHOI 2 ALY 20,000
OGHZ OIS THaHOI 2 ALY 20,000
03 AIZ2THYI 1,080 1,080 0
OTMoHole F2lI=2 At 1,080
ATt THOH Ol 30,000 30,000
401 Al HIZ R 0HbI 30,000 30,000
01 AlZ28| 29,676 29,676
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H £ 0l & AF & S

20243 =0l LB HAE ~ XIAHH

Al A

SA: SR
H: 9X% FOAX UWERD 5
el BXH EAMEIA At (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=X 332,618 326,122 6.49%
XS ZF0AX WERAZ 75 275,086 267,186 7,900
HXH dIAEA Zat 275,086 267,186 7,900
HHEAMHI A 222 94,166 86,266 7,900
101 21AH| 20,000 12,000 8,000
04 JIZtN2Z2XNSE+ 20,000 12,000 8,000
OBBX BRHFA SN R
9,000,000& %1 9,000
OB grBe o
8,000,000& 1= 8,000
OBIEAL 2 =X5j2 2B
3,000,000& %1 3,000
201 et 3| 73,666 73,666 0
01 At22t2l] 13,440 12,000 1,440
OARIDI 28 223 2
7,000,000 +1 7,000
OIS Y MeRsE
500,000& *4=2 7| 2,000
Ol S3=ta4d =Al2cl
1,000,000& 1= 1,000
O=2XX NHAIY 22
2,000,000+ 1 2,000
OXNSZHIAIE A2l
120,000& * 12 1,440
02 s3=gHl 60,226 61,666 1,440
O&F A= 1,200,000& 1 1,200
OARd HII2s 700,000 * 122 8,400
oJzs &Ies 7,300 3305+ 122 28,908
OsXzl2 &JI2s 400,000& 122 4,800
O=Xlaa =gyl 5,000,000& 1= 5,000
Ok 60,0002 «12& 720
ONVAIZEZ 16,5002« 12& 198
OR¥=z &&= 150,000& « 12& 1,800
OAted =2&U 1,000,000& %1 1,000
OBA IHEBEH =5
100,000 *22] 200
OoZExtg FAl2el 5,000,000& 1 5,000
O=Axtg FAl2cl 3,000,000 1= 3,000
301 EtE N = 500 600 A100
11 #AIAMHIXIE S 500 600 A100
OZd LIS 2TA =
500,000 *12] 500
FolEe dEatd e 35,920 35,920 0
101 21AH| 6,120 16,120 10,000
M ORNZZ2NSE S 6.120 16,120 10,000
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el BXH EAMEIA At (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBLZY o=y 3,000,00024*14 3,000
OstE B oY
130,000 x8 & x32 3,120
206 T2l 26,000 16,000 10,000
01 2 26,000 16,000 10,000
OBAZH M2 7Y 6,000,000 11 6,000
Onlg B2 X4 M2 2
20,000,000%1 20,000
301 EtE N = 3,800 3,800
02 A2 A LGS (FHAAHS, NSWE) 3,800 3,800
O3 JIELE YFAE
9BIt++22]%20,0002 3,800
THoHOII =QI==3 o{lZ 115,000 115,000 0
201 et 3| 10,000 10,000
01 At22t2l] 10,000 10,000
Oy & =7 &Hl X2 10,000
401 Al HIZL 01| 105,000 105,000
01 Al&H| 103,920 103,920
O&II] THoH I 2 AL 20,000
O Al THoH Kl AHS 20,000
OZXRI THoH Kl AL 20,000
OXZ THoH Ol 2 AH 18,920
O=E THoHOI 2 AL 20,000
OEXH AS+==HA 5,000
03 AIZ S THYI 1,080 1,080 0
Ol oile =RI=2oHZ 1,080
ATt THOHOll'2t 30,000 30,000 0
401 AIEHIZ SR OHYI 30,000 30,000
01 Al&HI 29,676 29,676
OATE THoHOI AR 29,676
03 Al 20HHI 324 324 0
OAr2 IHol ol AL 324
BY2IHY(HX) 57,532 58,936 1,404
=238l 57,532 58,936 1,404
SXH D=2 57,532 58,936 1,404
201 =3 15,636 17,040 1,404
01 AtR2t2l] 12,636 14,040 A1,404
Oogd ge=d 9,828,000& 13 9,828
Oud gRFr(=ehl)
2,808,000& 1 2,808
02 S3=gHl 3,000 3,000 0
OBAM=A & 22| 3,000,000& %1 3,000
202 04| 29,376 29,376 0
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SA XA
33 NAH BOAX UWEHAT 2=
Chol: XIAND SEAHIA 23} (chel &gl
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03154 ZHDI=Y 0129
520,000 * 1= 520
O24d DAZA AT Q14|
148,000& +6& 888
206 TH=H 2,112 2,112
01 K28 2112 2112
osterel W P 1,000,000 %1 1,000
O4# TADA AT} 22F 79
100&*11, 120H 1,112
301 LEetE N = 5,520 5,520
02 A2 H -GS (FHAAS, NSWE) 3,120 3,120
O+ YL YA
3,120,000& x 1 3,120
14 J|EI2 43 2,400 2,400 0
ONB(SE, TN )22 243
100,000 x2& x122] 2,400
401 AIEHIL L] 0,000 10,000
01 Al&H| 10,000 10,000
Olt4-2AZ 24 &Y BAXY
10,000,000 10,000
THoHole ==Ql=3 oflZ 115,000 115,000
201 et 3| 10,000 10,000
01 AtR2tc|Hl 10,000 10,000
Ol &£ 57 3l 8tz 10,000
401 AlEHIZL SO 105,000 105,000
01 Al&HI 103,920 103,920
OZD10t2 THaHOI AL 9,892
OafetirE =23 At 9,892
OPeHotOrS THoH Ol AL 9,892
OSE 0= Mool AL 9,892
OZ&E0E Sti=== FHIAHY 9,892
O& kel IHol ol At 9,892
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